Item 4Cvi. BCWMC 12-19-19

Lawn Chair Gardener

5901 Birchwood St. Shoreview, MN 55126 (651) 485-5171 dawn@lawnchairgardener.com www.lawnchairgardener.com



# **INVOICE**

**BILL TO** 

Laura Jesster Bassett Creek Watershed Management Commission

DESCRIPTION	QTY	RATE	AMOUNT
Social Media Researched and published 7 Facebook posts for Nov. 2019 that reached 13,136 people and had 224 engagements (clicks and reactions)	5.25	42.00	220.50
Consulting:News article Researched and drafted "Salt Smart Awareness Campaign" column, sent to Administrator for review, submitted to Managing Editor at Sun Sailor/Sun Post Newspapers-APG Media of East Central Minnesota.	3	42.00	126.00
Consulting:Website updated website with Clean Water MN blog post	0.25	42.00	10.50
Consulting:Meeting attended November board meeting	3.25	42.00	136.50
Consulting:Mileage to and from Golden Valley City Hall	40	0.58	23.20
Board minutes  November meeting minutes and submitted them to the administrator	2	42.00	84.00
			Subtotal: 600.70
Consulting:Education Salt Education-postcards, website, meeting with collaborators, card delivery (11/12, 11/14, 11/15, 11/22)	17.50	42.00	735.00
Consulting:Mileage to and from Golden Valley City Hall for Salt	78	0.58	45.24

	BALANCE DUE		\$1,709.16
			Subtotal: 296.72
Consulting:Materials for project Facebook ad for salt smart video	1	60.00	60.00
Consulting:Materials for project reimbursement for Salt Smart info. cards	1	236.72	236.72
<del>-</del>			Subtotal: 811.74
Consulting:Education AIS cards - PDF for grant submittal (11/26)	0.75	42.00	31.50
Collaboration meeting (11/14), to and from Wirth Park for Salt Smart card delivery			
DESCRIPTION	QTY	RATE	AMOUNT



# Your Vistaprint Order Is Confirmed

1 message

**Vistaprint** <vistaprint@tm.vistaprint.com> Mon, Nov 18, 2019 at 8:08 PM Reply-To: Vistaprint <noreply@vistaprint.com> To: dawn@lawnchairgardener.com

Your Vistaprint Order Confirmation



Add Vistaprint to your address book

My Account:9292-0064-0373

THANK YOU FOR YOUR ORDER

Your Order Number: 2H3JD-L5A66-1N8 • Track It

### Hi Dawn,

#### Here are your order details:

Order Date: 11/18/2019
Delivery Option (\*): Economy

You can expect to receive items in your order by:

6" x 11" postcard - standard glossy front December 02 6" x 11" postcard - standard glossy front December 02

Payment Type: Visa

#### **Order Summary**



6" x 11" postcards - standard glossy front

Qty: 1000

Base Price \$322.00 \$160.99

**Edit Your Design** 

6" x 11" postcards - standard glossy front

Qty: 250 Base Price

\$127.50 **\$63.74** 

\$160.99

Item Total \$63.74



Merchandise: \$224.73 Shipping Charges: \$11.99

Sales Tax: \$0.00 **Total: \$236.72** 

Sold By

Vistaprint Netherlands BV Hudsonweg 8 Venlo, The Netherlands 5928LW

### **Shipping To:**

Dawn Pape 5901 Birchwood Street Shoreview MN 55126 US

#### Billed To:

Dawn Pape Lawn Chair Gardener 5901 Birchwood St Shoreview MN 55126 US

**Need Help?** 

Click here to contact our Customer Care Team



Absolutely Guaranteed Every time. Any reason. Or we'll make it right.

Update Email | Privacy Policy | Contact Us

This email address is unmonitored, so please don't reply.

Offers expire 12/13/2019. at 11:59 PM (PT).

Limit one promo code per order. Savings will be reflected in your shopping cart. Discounts may vary by quantity and design and can't be applied to shipping and processing, taxes, subscription or design services, previous purchases or products on the Vistaprint Promotional Products site, unless otherwise specified. Additional fees may apply for shipping and processing, and taxes, unless otherwise noted. Free offers valid only on the lowest quantity of each product and not valid on more than 2 items per order.

## PCI 1511705 PCO 912726 T 62

